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2R HH Y =X
58 EXRx =3

22K - ZH . SR(EH) - HRA i HIDS2
202 04l 15,000 15,000
01 2LHOIHI 15,000 15,000
ORI =2 & 72|12 15,000
301 LEetEd = 7,000 7,000
08 212t1=2| 01H| 4,200 4,200
ouZIId2IL FXEs AN 4,200
11 #AIAMHIXIE =S 2,800 2,800 0
OF =X 3gE K& 2,800
NsRl gda(=1) 57,000 58,000 1,000
= 57,000
201 Ler=a| 18,000 28,000 10,000
[ 18,000
01 AlR2telbl 8,000 18,000 210,000
OFXNRA 82 8,000
= 8,000
03 A2 &I 10,000 10,000 0
O=U2 SNRXEE 10,000
= 10,000
202 04l 39,000 30,000 9,000
[ 39,000
03 =2AZ R0 39,000 30,000 9,000
Odliel ER2DIgUe FAFA 39,000
[ 39,000
S8 & SAHXF Jlgtxd 651,120 199,189 451,931
& SHKXF R 651,120 199,189 451,931
Sgs gexd 2,000 2,000 0
202 04| 2,000 2,000 0
01 2LHOIHI 2,000 2,000 0
oNggs gRF 2,000
S8 ¥ SHXF HgFa 649,120 197,189 451,931
201 Zet=2a| 11,620 20,000 8,380
02 S5=234l 11,620 20,000 8,380
O0=4 € SAHXF 2d=X KX2 11,620
206 M= HI 1,100 1,100
01 MHZH] 1,100 1,100
OSgX7 H=2E T2l 1,100
207 A1IHE 14,000 14,000
01 H7ESHI 14,000 14,000
OsES AEZ & 22| - 29 14,000
401 AlZHIYL SO 621,000 177,189 443,811
01 AlZHI 620,000 176,500 443,500
O0=8 € SAHXF 2g=2X A 570,000
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M 2B Y SHNP IIBEY
ol S8 2 SHNS iR (91 =)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
OIHEAR & AAAHE &HE A 50,000
03 AlZ S CHHI 1,000 689 311
O0=4 € SAHAXF 2d=2X RXA2c 1,000
405 KHeHE =4I 1,400 0 1,400
01 MMM ESFSHI 1,400 0 1,400
OSEX7 HASE Tz 1,400
HH2SIH(SESAHALR) 25,867 26,129 N262
=3t 25,867 26,129 N262
FA2E J1=22H] 25,867 26,129 N262
201 Zet=2g| 16,042 16,304 N262
01 AtR2telt] 16,042 16,304 N262
FA2E AR/ 16,042
202 04| 6,825 6,825
01 =LHAbI 6.825 6.825
OFA=2g =L 6,825
203 =8| 3,000 3,000
4 EA2HLRFAH 3,000 3,000
©15¢e! olat 250,000 x 122 3,000
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